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(A m) (A/m) (A m) (%) (%)
F=EH (IEE—3 9 I B /\VigET 1 T B 5 &5 138, 000 133, 000 129, 000 -3.6 -3.0
(BN—1)
IFE—40 FERETMREBEEH2TH4E 103, 000 97, 400 96, 500 -5.4 -0.9
(N—2)
KE—4 1 I EHFMNIERT 1 TEH2 1 &1 106, 000 105, 000 104, 000 -0.9 -1.0
(%X—34)
IFE—4 2 IEET=HFAEITESES6 55, 500 52,400 50, 500 -5.6 -3.6
(N—24) [ZHFAE3—8—6
IFE—4 3 IEETHBFEITHIES 74, 500 72, 300 69, 000 -3.0 -4.6
(X—37) THHm3—3—12]
KiE—17 KEFHFEM2TH4L44FE 52,500 49, 500 49,000 -5.7 -1.0
(A—3)
KiE—18 KEMEAHFEAIS TEH70&F2 93, 500 91, 900 88, 500 -1.7 -3.7
(N—6)
AR—2 ARTHEMBISITE1&Z216 42,300 40, 400 39, 500 -4.5 -2.2
(24— 18)
FE—6 PFET/NERE2TEHG69E 57, 000 53, 600 51, 800 -6.0 -3.4
(BN—7)
EHBRER—10 |[BBETHRRLE2TEG61%&2 80, 000 717, 300 74,500 -3.4 -3.6
(A—5)
EfE—5 HEETRBEFHAII1030%&5 69, 600 66, 900 64, 500 -3.9 -3.6
(BN—1)
Iz ®g — 3 PIEFRIEHEET LN 2TH 7 1 &5 75,000 74,000 72, 800 -1.3 -1.6
(N—2)
FEH—2 FHEEHETEKITEH40E 56, 100 54,300 52,100 -3.2 -4.1
(BN—1)
TZN—2 ZNBR/IN\EES r#FhHe76F4 55, 500 54,600 53, 000 -1.6 -2.9
(BN—1)
A1 ARERAAETHARE1TE2 7 0&S 65, 900 63, 400 60, 900 -3.8 -3.9
(A—3)
EEH (IEE5—4 IFERRKFELFF%R1205%F5 107, 000 102, 000 98, 000 -4.7 -3.9
(A5—8)
IFE5—24 (IKEHFHEEE1THE1 4%5 208, 000 200, 000 190, 000 -3.8 -5.0
(A5—3)
IFRE5—25 |KEFAMETSTH19%?2 140, 000 136, 000 133, 000 -2.9 -2.2
(85—17)
KiES5—7 KIEMHARFZET 4 THS 4 &5 134, 000 129, 000 124, 000 =3.7 -3.9
(A5—9)
FES5—4 FETEFNFEA2TEH7 4% 14 73, 500 68, 800 63, 900 -6.4 -71.1
(A5—1)
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